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Reading Text
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<20XX'H X XLl L7
Journal on (month) (day), 20XX

es2 g2 YA stFUCH

Today was a really messy day.

ORIof| =2 YOJLEM ORI E & W ot=0f =0l SO UL,
As | got up late in the morning, | could not have my breakfast and went to
Korean class.

¢ AlZHo Bi7F DM S S5 =4 Z3UC

A
| could not concentrate during the class because | was hungry.

T8 2t = 20| UM Hele =A HAC
Since | had a meeting after class, | ate my lunch late.

ot ddS Y Ht2 JFS +eUS SUUCL

| had a quick lunch and went straight to my business administration class.

LS el B8 SO|A BiZt OFFCE,
| had a stomachache because | had swallowed my meal too fast.
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A M

| had a volunteer work after class, but | could not make it because of my
stomachache.

T BLI AHESAZE AASE BH7F OHIHA, 2 ZUCE

P234Ct.
| felt blue.

Or!0l| =2 YLOjLtY stE7F YLOo|C,
My whole day is messed up with the result that | woke up late in the morning.

UL = &5 LB AO{LIM 24 Q1 &S sHOFAICE
From tomorrow, | will definitely get up early and live a well-regulated life (=lead
an orderly life).

=55 ot AlALE A A|ZH0f| St MEE= Y §10| &S 0F SHICE.
| will work out, eat on time, and never be in a hurry.
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Notes

=2 2=(today) + -2(marker(exclusion))
4L really
JAUQl tF-A-Cf . 20| (Ch(to be mess) + -L (ending(relative clause; noun modifying)) +

5} (day)+ OI(EH(to be) + -4-(pre-ending(past tense)) + -Ct(ending(declarative))
0r2l0j : ot2l(morning) + -Ofl(marker(in))

= =(Ch(to be late) + -Al(ending(making adverb))

QUO{LEA : LO{LH(EH (to wake up) + -OFA{(connective: because)

Of2l= : of2l(breakfast) + -=(marker(also))

D : 9H(CH(to eat) + -2 (connective: and)

ot=0f : Korean

20| : Y (class) + -Ofl(marker(into))

Eoﬂtq : =0{7HCH (to go) + --(pre-ending(past tense)) + -CH(ending(declarative))
2~ AZH| : £ A|ZH(class time) + -Ofl(marker(in))

HiZt : BH(stomach) + -Zf(subjective marker)

JOIRA ¢ D IE(C} (hungry) + -ObA (connective: because)

£US £ (lecture) + -=(objective marker)

GA3| - concentrate



E2| 234} (T} ((to take a lecture) + -2 235}HC}H (modal aux.(can’t do)) + --(pre-
ending(past tense)) + -CH(ending(declarative))

- H(CH(to eat) + -I(connective: and)

20| : £Y(class) + -O|(subjective marker)

2t 5 ZLHCH(to finish) + - (ending(relative clause; noun modifying)) + £ (after)
20| : 22 (meeting) + -O|(subjective marker)

QUO{A = QB (to have) + -O{M(connective: because)

HAME  dA(lunch) + -=(marker(also))

HRAC} : H(CH) (to eat) + -A-(pre-ending(past tense)) + -Ct(ending(declarative))
=5t : quickly -> &3HCH (to be quick) + -Al(ending(making adverb))

HAS : A4l (lunch) + -2 (objective marker)
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ZAF3S :business administration
SO{ZUCt: S0{7HCH (to go) + --(pre-ending(past tense)) + -Ct(ending(declarative))
Lﬂ‘r - too
el fast
22 : Bf(meal) + -2 (objective marker)
HOM : H(CH(to eat) + -O{ Al (connective: because)
BiZt - B (stomach) + -Z}(subjective marker)
OFTCY : OFIL(CH) (to sick) + -Rk-(pre-ending(past tense)) + -Ch(ending(declarative))
2Lt ZLHE (to finish) + -1 (connective: and)
AL ALt - A2 AH(volunteer work) + -7Hsubjective marker)
U-A-=6 : (T (to have) + -Y-(pre-ending(past tense)) + -=0|(connective: but)
OI}A] : OFIL(C})(to be sick) + -OtA (connective: because)
= 2t Z(not) + 7HE}) (to go) + -k-(pre-ending(past tense)) + -CHending(declarative))
L23UCt . L235HC (blue) + -R-(pre-ending(past tense)) + -Ch(ending(declarative))

ofzlofl : of&l(morning) + -Ofl(marker(in)
QUOfLIL| : LOLH(C}) (to wake up) + -L|(connective: because)
St27t : 52 (whole day) + -7t(subjective marker)
AYOIC} : YAO|(CH (to be mess) + CHending(declarative))
LY EE = : LHY (tomorrow) + -£E{(maker(from)) + -=(marker(exclusion))

. definitely
s early
LA @ LO{LH(C) (to wake up) + -OFA{(connective: and then)
20| MEtg - F2IZ01 MEk(well-regulated life) + -2 (objective marker)
iﬂl’—f SHC} (to do) + K4O0f(should) + %! (pre-ending(will)) + CHending(declarative))
(work out) + -=(marker(also)
)(to do) + -2 (connective: and)
t(eating) + -=(marker(also))
: A AlZH(right time) + -Of|(marker(on))
)(to eat) + -1 (connective: and)

: MS=2(CH(to hurry) + -=(ending(relative clause; noun modifying)) + &
,
H SHICH : M=HSHCEY) (to live) + -0{0F 5H(EH) (modal aux.(should) + -Z-(pre-
ending(will)) + -Ct(ending(declarative))
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Comprehension Check-up

1. 822 o|H S29 =UL7I?

1) L2l 2) APZ|220 = 3) A& 7|AL (& 1]

2. 929 Eq OHE A2 AL 72

1) OIS £ HRUCH 2) AAME 2 HAUCL 3) Hi7t OFULCH [ 2]

3. =9 AtEE 20| CHolf O{EA| Azt 7t

1) QLOICH 2) +2A0|CH 3) MF2A] AL/UCt [’ 1]
Conversation

Gl—li(ﬂ,M 2t A, 2aM20[0f2. & 2[R ?

Danny: Hey, Sarah, long time no see. How have you been?

Atet: ot A2 2zHFo|H| 2, O{EA A|UR?
Sarah: Hey, it'’s really been a long time. How are you doing?

CHL] @ 2F 2L, DA 2tA|Qt &l Z2HE TiF0]| F B,
Danny. [am good. A little busy with assignments and team project.

A2F: 2 EQ . OF2HIO|E SHe A|ZHH| T {0 &AM THO|A AlO}R.
Sarah: Me too. | almost live in the library except for the time | work [as a part-

timer].
CHL| : A= 22| &tuof| o{HLE 2 ot SHYS0|AH F0 =R0|2 st AN, O
SFE T2 4+ U0 A 012, £ 1 SHASTHE| SH=0f| CHSHA = B2 4~ JQO{A| 2+ Z0¢

Danny: | am working as a volunteer English tutor for Korean students who came to
Also it is nice to learn about Korea from the students.

Atet: e 1 20| 5t Ao OEAH AMYotH =e?
Sarah: | would like to be the volunteer tutor. How can | apply for it?

CL| : 2] C3tel BT 0|2/0f 712 OFF #7l A3 3 4 Qloje. 16| 22 Yo Y}
StL77t, et S0t0f st= H oI ?

Danny: You can apply for it very easily at our university homepage. But in a little
while we will have a break. Why don’t you do it during the break?

Atet:of, OA S4 Q. 109l
kSarah: Oh, it sounds good. Thank you.

our school for ESL program. | am glad that | can help them with their English study.

"4




2.5 259 &2
Of) Attt = BIAE} = d -S| ZAICH & =UASLICE = Ofwof 2hLt,

3. WCt Z3o w URZ F|9|5H7Lt HOjLyC,
0l & 2= AIZHE) WD ZY S gioick,

ofS E_H_I_sz;%%ﬁﬁ.



Notes

Of : hey
A2t M| 2 At2k(Sara) + Al (miss)
22H30|0| L : Long time no see.
2 2|07 : How have you been?
ot Hey
F :really
2zHAH0|H|L : Long time no see.
oA Z|LHK? : How are you doing?
ZF 2] : I am good.
3G - but
A2} - 2FA|(assignment) + -2H(marker(and))
&l T2HE : team project
}&0] : because of
= alittle
HHBEES @ HFEE(CH (to be busy) + -0F2 (ending(declarative))
HER : AH(polite I) + -=(marker(also)) + -2 (polite ending)
Ot2H}O|E : part time job
5= SHTH) (to do) + -=(ending(relative clause; noun modifying))
A2t - time
B - 8 (CH) (except + -2 (connective: and)
72| : almost
EMBOM : =M 2(library) + -Of|A (marker(in))
AH0tR : AF(C})(to stay lots of time) + -Ot2 (ending(declarative))
e H(polite ) + -=(marker(exclusion))

22| :our

St0f| - st (school) + -Ofl(marker(to))

HStALE - 0fSFAH4(ESL program) + -S(objective marker)

2 : 2(Ch)(to come) + -L (ending(relative clause; noun modifying))
5= : Korea

SHUEO||A| : &l (student) + - (plural) + -0l H(marker(to))

AN : English

LE20|E : =20|(volunteer) + -=(objective marker)

O : 5HC) (to do) + -2 U(CH (modal aux.(be -ing)) + -0{ 2 (ending(declarative))
- &8 (studying) + -E(objective marker)

QO{A : S(Ct)(to help) + -OF =(Ct)(modal aux.(to do something for someone)) +
-2 4= Q(CH(modal aux.(can)) + -0{A{(connective: because)

Z0t2 : Z(CH(to be nice) + -0t (ending(declarative))



SHUSSHE| : St (student) + -S(plural) + -StE{|(dative marker)
of : ?_F—-T#(Korea) + -Of|(marker(to))

BHS 4 UM : BH(CH (to learn)+ -2 4= L(CH) (modal aux.(can))+ -0{AM(connective:
because)

2k very

M H(polite 1) + -E=(marker(also))

5t 41012 : SHCH (to do) + -1 4/CHmodal aux.(to want to)) + -0{2 (ending(declarative))
A : how

Aot He? : A-SHET) (to apply) + -8 (connective: if) + -=|(CH) + -0
27?(ending(interrogative))

22| :our

cistol : CHsk(university) + -2 (possessive marker)

9|
Eh|0|R|0] : EH|O|X|(homepage) + -0l (marker(to))
7t 7HCh (to go) + -B (connective: if)

Al easily

A £ U012 1 LI-SHT (to apply) + -2 4= U(Th) (modal aux.(can)) + -012
(ending(declarative))

: but

- alittle

A (Ch) (after) + -2 8 (connective: conditional)

L|7t - 2hstsHE) (to break up) + -L7F(connective: because)

: &2t(during) + -Oi[(marker(in))

1 0{Ij? : why don’t you ~~?

: contracted form (2 Zd(that thing) + -O|(subjective marker))

=

H L : Z(ChH)(to good) + -Z-(pre-ending(conjecture)) + -H|(ending(exclamatory)) + -2
(maker(polite))

102 @ thank you.
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1 Comprehension

Oitle 25 BI™A] &t (T/F)

g F

2. Atete =0/ gsS 8tttk (T/F)

g F

" Vocabulary

LOJLtC} to get up = late

M|I4=3IC} to wash up =otAl urgent
8rS Lt /AAFE SHCHto haveleat] a meal el quickly
St 0j| 7+Ct to go to school 43| slowly
Ot2H}0|EE 3ICt to do part-time job L35 relaxedly
T M20i| 7tCt to go to library 2 well

ZICt to sleep X badly

AlZE B3 2t o3

Ot2! morning L @A Zatzol
HAM lunch
{4 evening A2 BH + RAL -0
4 night A|ZE FARO= ZAL -0 * 7t 2 4~ QUCH
A& dawn Of]) Of2I0i| &= A{:2t0i| ZHCt,
2 morning A0 2OjStCt,
235 afternoon 2ol 42 =4 S0{24| otzt,
" .

» Exercise

1. of&lol =4 ( ) ORI E X YA

1) QOILE 2) A 3) oM [EH]

2. &= ( ) HO{A BHZF O,
1)astil 2)& 3) =4 [E1]
3. +¢ BLA =AM ( )?
DA 2)sie 3) 7t (€3]
4. otd, ¥4 of &= ol



o Explanations

0 F 7| -(2)% 5427

Of XS ote YES ZEY U A8sts EHO|CE

of) oA HEstH 22
Of 7|Al= {EA AtEstE =HR?
22 o] g ofH =He?

-otC}/icH/%ct, -o| ACt/ Lt

£ 712g o 2= BHOICH -ACH ALt/ A A0l= SAF 2D

’

ot Joi| thall 7|=g W= U AHESE ARSI 289| BHEEE Lel 4o
wol= S AIAIE ALESHT.

[2t710] of® L] [21AH201 Lio| ola}]
O1A 2129} 6AI0] B 0l A= HE GAlo] e g0l
014 Y= Yojtole., A= s ojute
ojA 252 oL, o] 2£2 32
A e oj2y
-4/ A -L /=t -(2)a Ho|c}
Z ot Zct Z2 Zo|c}
2i9ict oi=r} %13 Zio|ct
283} 2E35i0} 228 Zo|c}




Exercise

1. A =20 LEoR?

B:
1) AHER
2) FROR. AR
3) Ofs, O{E7 ot &HR?

[E3]

2. O{H| AHASALZE UAU=H| BiZF OFF

M2
1) 2t
2) ZtCt
3) ZtCt

[E2]
wAb 220l

AAZE A 0|22 ME0is 2tH AIAHIE A
Lo s =21 A28 = SR AHZ E

Reading & Writing

CHE 2t 20| O{A|Q] oh=0i| ChisiA A EM|.

Ob2l0| 258 511 B3 2ieict
42 oi 7 stmoj| 24Tt
Sh0f 7HA oAk

3A: 25 4T HitM gl502.
B -

1) oll 7HA 41 2 ofne?
2) 3127+ Yool
3) 27 22
[E41]

4. A ARRIM, & Alof| Z}
B 0 % ...... ) E% 12A|0‘”
1) &oie.
2) 2 Ho
3) 2t (&3]
235l0F SiC},
Fol|OF StC}



